
FE 350s 2023 <2023><US><F2275W4>
REAR BRAKE CONTROL

55611

Pos Part Number Description Additional Text Quantity

1 A54013060044 rear master cylinder 1.00

2 A54013062000 cap set 1.00

3 A54013061000 rear master cylinder repair ki 1.00

4 A54013070000 Kit rear brake hose 1.00

5 0603100141 sealing ring DIN 7603 10x14x1 ONLY FOR LC4
ADVENTURE

2.00

6 50311051100 BRAKE LIGHT SWITCH REAR '98 EXC EU+AUS 1.00

7 0025060126 HH collar screw M6x12 TX30 2.00

10 55413050044 FOOT BRAKE LEVER CPL. 1.00

11 55413051000 STEP PLATE FOOT BRAKE LEVER 1.00

12 78105081010 SCREW TORX M5X10 2.00

13 79003062000 RETURN SPRING F. BRAKE LEVER 1.00

14 0025060206S HH collar screw M6x20 TX30 1.00

15 54813056000 PUSH ROD L=28MM 03 1.00

16 0934060003 Hex. nut DIN 934 M6 1.00

17 54813055000 SWIVEL HEAD KA6 03 1.00

18 0032100356S AH-COLLAR SCREW M10X35 ISA45 1.00

19 59001037000 SPECIAL SCREW M8X26 WS=10 1.00

20 46030045000 flanged nut M8 WS10 1.00



21 0625060002 deep groove ball bearing SKF 6 2.00

22 54630044000 COLLAR NUT M10 WS=13 1.00

30 00062030000 Brake fluid DOT5.1 0,25L 1.00


